
Division with a Remainder II (H - set 5)
TEST 2

Name:

Time: Score: /

1) 6498÷ 10 = 16) 778÷ 4 =

2) 3258÷ 10 = 17) 2121÷ 2 =

3) 1806÷ 5 = 18) 73948÷ 9 =

4) 4430÷ 5 = 19) 62008÷ 9 =

5) 15012÷ 4 = 20) 38860÷ 5 =

6) 70558÷ 10 = 21) 2821÷ 10 =

7) 27775÷ 3 = 22) 5775÷ 10 =

8) 3107÷ 10 = 23) 4110÷ 5 =

9) 9757÷ 10 = 24) 1224÷ 5 =

10) 42454÷ 7 = 25) 59312÷ 7 =

11) 1749÷ 10 = 26) 6016÷ 2 =

12) 3441÷ 10 = 27) 9047÷ 2 =

13) 1585÷ 5 = 28) 62960÷ 7 =

14) 2596÷ 5 = 29) 18659÷ 3 =

15) 41146÷ 9 = 30) 9527÷ 2 =

Mathematics: Division - Level 8 - Horizontal - Set 5 27 © workulum.com

https://www.workulum.com

